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(a) Evaluate. Video created by W Neill

(i) 121

1) R —— [1]
(i) 472
L [1]
(b) Work out.
(9 —3x2)?
(D) oo [2]

(c) Fillin the power.

5 =125 [1]
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(a) Round 7874 to

(i) the nearest hundred,

(a)(i)

(ii) 1 significant figure.

(ii)
(b) Find the value of x.

3°x 32 = 3%

(b)
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(a) Round 7874 to

(i) the nearest hundred,

(ii) 1 significant figure. b

/% 70

(b) Find the value of x.

3%x 3% =3

(a)(i)

(ii)

(b)
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20 (a) Show that a® x (a®)? can be expressed as a'l. [2]

V[P



Created by W Neill

20 (a) Show that a® x (a®)? can be expressed as a'l. [2]
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(b) Write 1175 x 25° as a power of 5.
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Write —— x 2 .1
(b) Write 125 X 25" as a power of 5
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(a) Write down the value of 27.
N19

(b) Work out 72.
N19

(c) Write 67" as a fraction.

N54
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(a) Write down the value of 27.
N19
8 Bl

(a)

(b) Work out 72.

N19 ?
(b)

(c) Write 6= as a fraction.

N54
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2
(b) There are two errors in Sam’s method for finding the value of 64 3 shown below.

Find the cube root of 64 and then multiply by 2.

The cube root of 64 is 4 and then 4 x 2 = 8.
The negative power makes the answer negative so answer equals -8.

2
Describe these errors and then give the correct value of 64 3.
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2
(b) There are two errors in Sam’s method for finding the value of 64 3 shown below.

NSLy Find the cube root of 64 and then multiply by 2.
The cube root of 64 is 4 and then 4 x 2 = 8.
The negative power makes the answer negative so answer equals -8.

Describe these errors and then give the correct value of 64 3 (
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17 Show that 3 can be written as 33



17 Show that 3 can be written as 33
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(b) Work out.
NSk 167
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(b) Work out.
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:
12 Carol says that 64 2 = 31—2

1
NSkH Explain her error and give the correct value of 64 2 in the form g

----------------------------------------------------------------------------------------------------------------------------------------------------------
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:
12 Carol says that 64 2 = 31—2

1
NSUH Explain her error and give the correct value of 64 2 in the form g

(acol = bl by 2. She did not = k
36% the fj /g/



(b) Write 1175 x 25° as a power of 5.
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Write —— x 2 .1
(b) Write 125 X 25" as a power of 5
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Work out.
(a) ¥64x27"

N54

(b) 4.3x10°+3.8x 10"
Give your answer in standard form.

N48
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1 Work out.
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(b) 4.3x10°+3.8x10"
Give your answer in standard form.
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28000 S

LEE 00 o LHK X0




Edexcel



Created by W Neill

5 4

20 (a) Write 2 as a power of 3

32

(b) Write down the value of 12°

(c) Write down the value of 37
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5 4

20 (a) Write 2 as a power of 3

32

(b) Write down the value of 12°

(¢c) Write down the value of 37
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22 (a) Work out —+—
5 4

(b) Write down the value of 2~

(Total for Question 22 is 3 marks)
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22 (a) Work out §+i 23 = PR IRE K
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(b) Write down the value of 273

(Total for Question 22 is 3 marks)
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12 (a) Write down the value o
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12 (a) Write down the value of 25°
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(b) Find the value of 49 2

N54
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(b) Find the value of 49 2

N54
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(¢) Find the value of 64

N54
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(¢) Find the value of 643
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Given that n3=8 and n > 0

(c) work out the value of n.
Give your answer 1n the form ax/b where a and b are integers.

N54
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2 (2. JuJz

Given that n3=8 and n > 0
->Jz

(c) work out the value of n.
Give your answer 1n the form axJb where a and b are integers.
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12 (a) Find the value of 81 2

W | o

(b) Find the value of (ﬁ)
125

(Total for Question 12 is 4 marks)
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12 (a) Find the value of 81 2
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10 (a) Write down the value of 100

| ra

(b) Find the value of 1253

(Total for Question 10 is 3 marks)
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10 (a) Write down the value of 1002
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(Total for Question 10 is 3 marks)
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9 (a) Write down the value of 362
NSk

(b) Write down the value of 23°
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9 (a) Write down the value of 362

NSk \ |

(b) Write down the value of 23°
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14 (a) Work out the value of (gr
Nb4
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14 (a) Work out the value of —]
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30— ] 3 =943 3=
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(b) Work out the valueof a+b+c

N54

(Total for Question 14 is 4 marks)
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24 (b) Workout 316 asa power of 2

N Shf [2 marks]

Answer




24 (b)

NSk

Work out

Video created by W Neill

% as a power of 2
[2 marks]

Answer
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6 Work out the value of (\/5 )2 x (JE )2

[2 marks]
N54

N39

Answer
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Work out the value of (\/5 )% (\/E )2
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30 (a) Work out the value of 81 4
[2 marks]
N54

Answer
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30 (a) Work out the value of 81 4
[2 marks]
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30 (b) Write 16 x 82 asa power of 2 in terms of x.
[3 marks]
Nb4

Answer
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30 (b) Write 16 x 82 asa power of 2 in terms of x.
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N54
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y=pxq 1 where p and g are numbers.

=10 when x=1
vy=0.3125 when x=6

Work out the value of y when x=3

Answer

[5 marks]




28 y=pxqg " where p and ¢ are numbers.
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24 (a)  Work out the value of 21+ {29]

NbH4 Give your answer as a fraction in its simplest form.
[3 marks]

Answer
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24 (a)  Work out the value of 21+ {29]

NbH4 Give your answer as a fraction in its simplest form.

Iu 1€ [3 marks]
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24 (a)  Work out the value of 21+ {29]

NbH4 Give your answer as a fraction in its simplest form.
[3 marks]

Answer
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24 (b)  Work out the value of 25
3 [2 marks]
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17 Work out the exact value of (%J

N54 [2 marks]

Answer
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27 The point (3, G%J lies on the curve y= k™ where kis a constant.

N54

Show that the point [% % lies on the curve.

[3 marks]
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27 The point {3 6_4J lies on the curve y= k™ where kis a constant.
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Show that the point (5 > lies on the curve.
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